Geomefry: Notes/WS 2-1-2-4 Name: \AE\{

Objective: Use Inductive & Deductive Reasoning and Conditional Statemens.

Yocabulary
1. When a pattern is formed & youﬁéf;:ﬂgm‘g:%he pattern will continue, you are applying _\ (\(\E Ji ot v reasoning.

2 reasoning is making logical conclusions from facts, definitions, and properties. ~hypothesis—
3. A statement you believe to be true based on inductive reasoning is called a C{ )H & e -COnVerse
4. A counterexample shows that a conjecture is :E( b,l! =L . L‘j on
d % conditional-

907 Jonry n . s T ”
5. A CONGE \@Y“\&\ statement can be written in the form: “If , then . inductive
6. The M\ )( Ahesis is the part p of a conditional statement following the word if. deductive.....
7. The (h OV (LA 3G+ 3 is the part g of a conditional statement following the word then. ~6ORj8ete—
8. The (O W/Fr SE is the statement formed by exchanging the hypothesis and the conclusion.

For Exercises 9-11, complete each conjecture by looking for a pattern. Give at least 2 examples for support.

9. The sum of two odd numbersis CNEY examples: & T ﬁ_—) = K b= ﬂ“}

10. The difference of any two even numbers is CACN examples: { ~(o = 7 i~ =,

w2

& 7
1i. The square of any negative number is P DS e  examples: “72 - f“““% W(Q T Dl

12, The product of 2 odd numbers is @(ﬁ Cé examples: SRt Ea L L /
Show that each conjecture is false by finding a counterexample (sketch a counterexample for #18 & #19).
13. For any number, n, 2n>n. 14, For any number,n, -n<n 15. Ifx’ = 16, then x = 4
-~ or | -l
Ifp == \ ,then 2n < n Ifr= {WD then -n>n Ifx=4or "1, thenx’ =16
16. For any rational number,n, n> % 17. The difference of 2 negative integers is a negative.
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Ifn=___ 2— thenn < i Example of 2 negative numbers whose difference is positive:_—7/, ~{- 53 :’:f)

18. Every pair of supplementary angles includes an obtuse angle. 19, Each angle in a right triangle has a different measure
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~20. Use inductive reasoning to complete the next 3 terms of each pattern: _ | \, Jf”“ “f 1\) ‘1 “;T " ""jf
a. 100,81, 64,49, ...  b.%,2,6,18, ... c.8,3,2,7,. d. %1 e.-1,2,4,8, .
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Write the converse for each conditional statement. State if each statement is TRUE or FALSE
23. Conditional: If two angles ] form a lingar pair, then’ they are supplementa THF

Converse: _| " £ o if”?il Ay iﬂ’ﬁ"“’g ¢ F”"f VW/‘\ by —ﬂ‘)rmr“w fV’“T/ﬁ‘ﬁ? .
24.  Conditional: If AM = W then M is the m1dp01nt of AB. T/M L. i A j&/(ﬂ

7 pre)
Converse: fr i‘ P K ma“g et mf f \-Ta ; i %

f’f‘:v F

Decide if the conclusion is ALWAYS, SOMETIMES, or NEVER true.

25. A segment that is a diameter of a circle has endpoints on the circle. GH h%s_!endpoints on a circle. Therefore, GH is

e

SOMEN e S a diameter of the mrcle("‘.{ a\ s L N
26. An obtuse triangle has two acute angles. Triangle ABC is obtuse. Trlangle ABC /\ Eil f .., __has two acute angles\ B

27. If 2 angles are complementary then both angles are acute. 44 & AB are both acute angles. Therefore AA & 4B are
Eod \\f '/

\ \ 7 ML"“"
28. AABC is a right triangle with hypotenuse AC. Therefore, AB is g\(:‘..\'\f-ga./\ / equal to AC. N j PR \

\)O O 08 complementary angles.
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Draw the conclusion that would result from using all of the given information by hean of Sylloglsr_p_}
29. Given: If two segments intersect, then they are not parallel. If two segments are not parallel, fﬁen they could be

perpendicular. EF and MN intersect, therefore "H("\{"\j Y ,{i(‘% h{ﬁ é“g‘ L3 ‘5 i irtg 18

30. If 2 angles form a linear pair, then they are ad%;"cent If2 angles are adjacent, then they share aray. 44 & 48 form a
linear pair, therefore | - ;@:;_ﬁ}i fo Vwi e AL %xj

31. A sports store has running shoes 25% off original prices. Andrea sees a pair of running shoes that she likes for $60.00.

Which is a valid conclusion?
A The sale price of the shoes is $40.00. h The sale price of the shoes is $45.00.

C Andrea will buy the shoes. D_/ Andrea will not buy the shoes.

e

32. Decide if the following conclusions use inductive or deductive reasoning:

a. Annika completed all of her homework assignments from | b. Each homework assignment in Geometry is worth 5 points.
Ch. 1 and earned an A on her Ch. 1 test. Annika completes Annika has completed 10 homework assignments. Annika
all homework assignments in Ch. 2. Therefore, Annika will | has earned 50 homework points.

earn an A on the Ch. 2 test.
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¢. Which method of reasonmg to you believe is more reliable in drawing conclusions. . mductwe or deductive reasoning?

Explain: (\\9( M(“‘ b 1 fs: "-;jm.f\ Corv T ASE NG A a\» %""‘ Ly pdenge
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